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One of the unique endowments of human being is the internal
urge to change thinking for the better. It is this creative urge, which
has impelled human kind to alter the given conditions of life to create
a civilized order of existence. So long as it is active, the quality of life
improves and society grows to higher civilisational levels. When it is
inactive, there is stagnation and decay. Thus to be active is to be
creative. “Arrested creativity is the real root of the present human
crisis. Freedom and creativity are closely related. Together they
provide the motive power for human growth and betterment.

Freedom is a necessary condition for creativity.
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